SUMMIT BOARD OF EDUCATION

MISSION STATEMENT

The Summit Board of Education operates with the commitment to excellence and the expectation that each student will strive to excel beyond the NJ Student Learning Standards, which set forth a minimum level of achievement for all students at all grade levels. The Summit Public Schools, in partnership with the community, will support and sustain an excellent system of learning that engages all students in compelling work; educates them to their highest intellectual, creative, and individual potential; promotes pride in diversity; and results in responsible and productive citizens of the highest integrity and quality.

MEETING AGENDA Thursday, September 12, 2024 ~ 6:30 PM Summit High School Auditorium

I. CALL TO ORDER AND FLAG SALUTE

II. PUBLIC NOTICE - BOARD SECRETARY

In accordance with the requirements of the Open Public Meetings Act, I wish to announce that: "The New Jersey Open Public Meeting Law was enacted to ensure the right of the public to have advance notice of and to attend the meeting of bodies at which any business affecting their interests is discussed or acted upon. Notices announcing the date, time and place for this Meeting were sent to all concerned individuals, associations and sent to <u>Union County</u> <u>Local Source</u> in accordance with Chapter 231, P.L. 1975."

III. ROLL CALL

Board Members	Present	Absent
Ms.Walidah Justice, President		
Ms. Melanie Cohn, Vice President		
Mr. Yon Cho		
Ms. Jennifer Erday		
Ms. Eileen Kelly		
Mr. J. Carlos Mahecha		
Ms. Kelly Stanton		

Others Present:

Mr. Scott Hough, Superintendent of Schools Mr. Robert Gardella, Dir. of Human Resources Mr. Gregory Margolis, Dir. of Special Services Ms. Kathy Sarno, Asst. Business Administrator Mr. Derek J. Jess, Business Administrator/Board Secretary Dr. Crystal Marr, Director of Student Personnel Services Ms. Heather Rocco, Dir. of Curriculum & Instruction Ms. Laurene Dickinson, Communications Officer

October Meeting

Thursday, October 10, 2024 - 6:30 PM LCJ Summit Middle School Auditorium

www.summit.k12.nj.us

IV. PRESENTATIONS & DISCUSSIONS (6:30 - 6:45)

- A. Recognition of Newly Tenured Staff
- B. Recognition of 25 Years of Service
- C. 2024-2025 Board Goals Scott Hough

Break - 5 Minutes

V. PRESIDENT'S ANNOUNCEMENTS (6:50 - 7:00)

VI. SUPERINTENDENT'S REPORT (7:00 - 7:15)

- A. Approval to affirm the following reports of Harassment, Intimidation and Bullying:
 1. none
- B. Approval to review the following reports of Harassment, Intimidation and Bullying:
 - 1. 06/14/2024 7907
 - 2. 07/18/2024 8351
 - 3. 09/06/2024 8403

Motion by _____, seconded by _____ Stanton Mahecha Kelly Erday Cho Cohn Justice

VII. STUDENT BOARD REPRESENTATIVE REPORT Grace Epstein, Student Representative

VIII. ADDITIONS / REVISIONS TO THE AGENDA

IX. COMMITTEE REPORTS (7:15 – 7:45)

- A. Education and Student Activities/Services Committee
- B. Operations Committee
- C. Policy Committee
- D. Communications Committee
- E. Negotiations and Personnel Committee
- F. Liaison Reports

X. PUBLIC COMMENT (7:45 – 8:00)

- A. Public Comment on Items on the Agenda
- B. Public Comment on Items not on the Agenda

Motion by	, secon	ded by		(to close	following p	oublic comment)
Stanton	Mahecha	Kelly	Erday	Cho	Cohn	Justice

REMAINDER OF MEETING (8:00 - 8:30)

XI.

APPROVAL OF BOARD MINUTES

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

A. Approval of Minutes of the following meetings:

1. August 22, 2024 Regular & Executive Meetings

Motion by _____, seconded by _____ Stanton Mahecha Kelly Erday Cho Cohn Justice

XII. CURRICULUM / INSTRUCTION / PROGRAM

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

A. Approval of the new and revised curriculum for the 2024-2025 school year (list attached)

Motion by		, seconde	ed by				
S	tanton	Mahecha	Kelly	Erday	Cho	Cohn	Justice

XIII. FINANCE

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

A. Approval of the September Bills List as listed below:

Regular Bills	Fund 10	\$2,579,569.89
Special Revenue	Fund 20	\$ 731,645.84
Capital Projects	Fund 30	\$2,845,220.01
Enterprise Fund	Fund 60	\$ -0-
Sub Total All Funds		\$6,156,435.74
Food Service	Fund 61	\$ 5,355.56
Total All Funds		\$6,161,791.30
	Special Revenue Capital Projects Enterprise Fund Sub Total All Funds Food Service	Special RevenueFund 20Capital ProjectsFund 30Enterprise FundFund 60Sub Total All FundsFund 61

- B. Approval of the monthly payroll for August 2024 \$1,235,469.93
- C. Approval of budget adjustments and line item transfers for July 2024
- D. Approval of Secretary and Treasurer's Report for July 2024
- E. Monthly Budgetary Line item Status Certification:

Resolved, that the Board Secretary for the Summit Board of Education certifies that pursuant to NJAC 6A:23A-16.10 (c) 3, as of July 2024 that no line item account has encumbrances and expenditures, which in total exceed the line item appropriation in violation of NJAC 6A:23A-16.10(a); and

Further Be It Resolved, that the Summit Board of Education certifies that pursuant to NJAC 6A:23A-16.10(c) 4 that after review of the board secretary's and treasurer's monthly financial reports and the advice of district officials, no major account or fund has been over-expended in violation of NJAC 6A:23A-16.10 (b).

- F. Approval of travel for staff members (as per attached)
- G. Approval to accept the Electric School Bus (ESB) Program Grant in the amount of \$1,280,000 from the New Jersey Department of Environmental Protection for the purchase of up to four electric school buses and four direct current fast chargers
- H. Approval to accept the Clean School Bus (CSB) Rebate Award in the amount of \$880,000 from the United States Environmental Protection Agency (EPA) for the purchase of up to four new electric buses, eligible charging infrastructure and other eligible expenses
- Approval of Tuition Contract with CHS Learning Centers, Inc. t/a Honor Ridge Academy, 342 Madison Hill Rd, Clark, NJ 07066 for student #1460695926 to attend for the 2024-2025 school year at a cost of \$95,004
- J. Approval of Agreement with Mountain Lakes Board of Education to provide Itinerant Services for Students with Hearing Loss to student #5792515946 during the 2024-2025 school year at a cost of \$16,416
- K. Approval for the following **extended summer** transportation arrangements with Sussex County Regional Transportation Cooperative (SCRTC) for the 2024-2025 School Year:

Student ID	School	Route	Contractor
	A sedence 2000 there are		
#7882454407	Academy 360 - Upper	SQ-086	Complete Care

Approval for the **extended summer** transportation contract with Sussex County Regional Transportation Cooperative (SCRTC) for the 2023-2024 School Year in accordance and subject to the CPI increase of 5.81% as listed below:

Contractor	Route #	Aide Per Diem Rate	Per Diem Cost
Complete Care	SQ-086	\$50.00	\$350.00

L. Approval for the following **extended school year** transportation arrangement with Morris County Educational Services Commission for the 2024-2025 School Year:

Student ID	School	Route	Contractor
#2397012436 V	Vindsor Learning Center	SR309	Rajak LLC

Approval for the **extended school year** transportation contract with Morris County Educational Services Commission for the 2024-2025 School Year in accordance and subject to the CPI increase of 5.81% as listed below:

Contractor	Route #	Aide Per Diem Rate	Per Diem Rate
Rajak LLC	SR309		\$130.00

M. Approval for the following extended summer transportation arrangements with Union County Educational Services Commission for the 2024-2025 School Year:

Student ID	School	Route	Contractor
#5302980353	Jefferson Elementary	CS-22SN	First Care
#3185303921	Jefferson Elementary	CS-27SN	OTD2
#9962821215	Somerset Hills Learning Ctr	CS-210SN	Jaris Transportation
#1578122381	Montgomery Academy	CS-129SN	Jaris Transportation
#7856253002	Cornerstone Day	CS-394SN	By Faith
#3140908925	Cornerstone Day	CS-394SN	By Faith

Approval for the renewal of extended summer transportation contracts with Union County Educational Services Commission for the 2024-2025 School Year in accordance and subject to the CPI increase of 5.81% as listed below:

Contractor	Route #	Aide Per Diem Rate	Cost Per Diem
First Care	CS-22SN		\$399.00
OTD2	CS-27SN	\$40.00	\$260.00
Jaris Transportation	CS-210SN	\$70.00	\$205.00
Jaris Transportation	CS-129SN		\$338.00
By Faith	CS-394SN		\$375.00

N. Approval for the following transportation arrangements for Vocational-Technical students with Union County Educational Services Commission for the 2024-2025 School Year:

Student ID	School	Route	Contractor
3849859039	Union County VoTech (am)	CS-296	Golden Arrow
1895959954	Union County VoTech (am)	CS-296	Golden Arrow
1380818792	Union County VoTech (am)	CS-296	Golden Arrow
6898618770	Union County VoTech (am)	CS-296	Golden Arrow
5429550667	Union County VoTech (am)	CS-296	Golden Arrow
6723584946	Union County VoTech (am)	CS-296	Golden Arrow
4721339950	Union County VoTech (am)	CS-296	Golden Arrow
6130078380	Union County VoTech (am)	CS-296	Golden Arrow
3771230740	Union County VoTech (am)	CS-296	Golden Arrow
8521231635	Union County VoTech (am)	CS-296	Golden Arrow
4552928173	Union County VoTech (am)	CS-296	Golden Arrow
8269349806	Union County VoTech (am)	CS-296	Golden Arrow
2206990073	Union County VoTech (am)	CS-296	Golden Arrow
3081969829	Union County VoTech (pm)	CS-296	Golden Arrow
9240743986	Union County VoTech (pm)	CS-296	Golden Arrow

2301426683	Union County VoTech (pm)	CS-296	Golden Arrow
1919534838	Union County VoTech (pm)	CS-296	Golden Arrow
2789340848	Union County VoTech (pm)	CS-296	Golden Arrow
5515744307	Union County VoTech (pm)	CS-296	Golden Arrow
6655002397	Union County VoTech (pm)	CS-296	Golden Arrow
	Union County VoTech (pm)	CS-296	Golden Arrow
4354295854	Union County VoTech (pm)	CS-290 CS-296	Golden Arrow
9528599587	Union County VoTech (pm)	CS-296	Golden Arrow
3192094704	Union County VoTech (pm)	CS-296	
8257476141		CS-296	Golden Arrow
3166313783	Magnet HS		Golden Arrow
8771598809	Magnet HS	CS-296	Golden Arrow
3933891305	Magnet HS	CS-296	Golden Arrow
7325066916	Magnet HS	CS-296	Golden Arrow
6032391328	Magnet HS	CS-296	Golden Arrow
1933030564	Magnet HS	CS-296	Golden Arrow
4821417825	Magnet HS	CS-296	Golden Arrow
5202580584	Magnet HS	CS-296	Golden Arrow
9567134018	Magnet HS	CS-296	Golden Arrow
5462607094	Magnet HS	CS-296	Golden Arrow
6153637649	Magnet HS Allied Health	CS-296	Golden Arrow
8063989760		CS-296	Golden Arrow
2752500734	Allied Health Allied Health	CS-296	Golden Arrow
9153665759	Allied Health	CS-296 CS-296	Golden Arrow
6800147834	Allied Health	CS-296	Golden Arrow
3955743601	Allied Health	CS-296 CS-296	Golden Arrow
2135401439	Allied Health	CS-296	Golden Arrow
1894306977	Allied Health	CS-296	Golden Arrow Golden Arrow
1535837876	Allied Health	CS-296	
7995134023	Allied Health	CS-296	Golden Arrow Golden Arrow
7689351264	Allied Health	CS-296	Golden Arrow
1757003199	Allied Health	CS-296	Golden Arrow
7933650695 4552928173	Allied Health	CS-296	Golden Arrow
7090609558	Allied Health	CS-296	Golden Arrow
9229828633	Allied Health	CS-296	Golden Arrow
3529430574	Allied Health	CS-296	Golden Arrow
7872466825	Performing Arts	CS-296	Golden Arrow
3030391874	Performing Arts	CS-296	Golden Arrow
9901108385	Performing Arts	CS-296	Golden Arrow
2561599889	Performing Arts	CS-296	Golden Arrow
7459929578	Performing Arts	CS-296	Golden Arrow
7730646025	Information Technology	CS-296	Golden Arrow
6326963675	Information Technology	CS-296	Golden Arrow
7256786199	Information Technology	CS-296	Golden Arrow
5984593974	Information Technology	CS-296	Golden Arrow
00040838/4	I mornation recimology	00-200	GOIDEIT ATTOW

2670632260	Information Technology	CS-296	Golden Arrow
5233933210	Information Technology	CS-296	Golden Arrow
4685078179	Technical HS	CS-296	Golden Arrow
6319335779	Technical HS	CS-296	Golden Arrow
6830206829	Technical HS	CS-296	Golden Arrow
9379139670	Technical HS	CS-296	Golden Arrow
4373767246	Technical HS	CS-296	Golden Arrow
3431506151	Technical HS	CS-296	Golden Arrow
2134194500	Technical HS	CS-296	Golden Arrow
7839171087	Technical HS	CS-296	Golden Arrow
7786822532	Technical HS	CS-296	Golden Arrow

Approval for the renewal of transportation contracts with Union County Educational Services Commission for the 2024-2025 School Year in accordance and subject to the CPI increase of 5.81% as listed below:

Contractor	Route #	Per Diem Rate	Annual Rate
Golden Arrow	CS-296	\$586.93	\$109,873.30

O. Approval for the following transportation arrangements with Union County Educational Services Commission for the 2024-2025 School Year:

Student ID	School	Route	Contractor
7856253002	Cornerstone Day School	CS-571	Busy Bee Transportation
3140908925	Cornerstone Day School	CS-571	Busy Bee Transportation
1460695926	Honor Ridge Academy	CS-200EC	Jaris Transportation
1578122381	Montgomery Academy	CS-320	Jaris Transportation
5302980353	Summit High School	CS-266	K&S Transportation
3185303921	LCJ Summit Middle School	CS-291	Busy Bee Transportation
9962821215	Somerset Hills Learning Institute	CS-294	A&M Transportation

Approval for the renewal of transportation contracts with Union County Educational Services Commission for the 2024-2025 School Year in accordance and subject to the CPI increase of 5.81% as listed below:

Contractor	Route #	Aide Per Diem	Per Diem Rate
Busy Bee Transportation	CS-571	\$0.00	\$234.20
Jaris Transportation	CS-200EC	\$0.00	\$293.00
Jaris Transportation	CS-320	\$0.00	\$310.00
K&S Transportation	CS-266	\$0.00	\$378.80
Busy Bee Transportation	CS-291	\$42.32	\$277.22
A&M Transportation	CS-294	\$90.00	\$170.00

P. Approval for the 2024-25 Parental Contract for Student Transportation – Route #P-3 to Celebrate the Children in Denville (inclusive of ESY), for student #3552153376, in the amount of \$5,436.64

- Q. Approval of Proposal from Open Systems Integrators, Inc., 211 Yardville Hamilton Square Road, Hamilton, NJ 08620 to provide Time, Material, Equipment, and Services Blanket for the 2024-2025 school year at a cost not to exceed \$12,640 as per Co-op #65-MCESCCPS Bid #ESCNJ 23/24-32 6/6/24-6/5/26
- R. Approval of Quote #SQ-2402642 from Stadium System, Inc., 61 Church Street, Canaan, CT 06018 to refurbish football helmets and equipment at a cost of \$10,592.45 Note: Additional quotes received from

Mercury Sports, Evansville, IN	\$11,802.50
Gibney Sports & Reconditioning, Worcester, MA	\$11,587.40

- S. Approval of Order #Q-223466-3 from Agile Sports Technologies, Inc. dba Hudl, 600 P Street, Suite 400, Lincoln, NE 68508 for the 2024-2025 Season H.S. Essential Athletic Department Package at a cost of \$13,050 Note: Partial reimbursement from the H.S. Football & Lacrosse Teams
- T. Approval to accept the following items donated to the district FPPA Department from the Summit Performing Arts Resource Committee (SPARC):
 - (4) Chauvet Followspots valued at \$750 each
 - (8) Shure lavalier microphones valued at \$135 each
 - (1) Set of nine Eartec headsets valued at \$1500

Motion by _____, seconded by _____ Stanton Mahecha Kelly Erday Cho Cohn Justice

XIV. SCHOOL BOARD OPERATION

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

- A. Approval of the School Safety and Security Plan Annual Review Statement of Assurance for submission to the Union County Office of Education
- B. Approval of the School Psychology Practicum/Externship Affiliation Agreement with Rutgers Graduate School of Applied & Professional Psychology to provide intern services to the district beginning September 1, 2024 till June 30, 2025
- C. Approval of Proposal from TMI Education, P.O. Box 922, Madison, NJ 07940 to provide eight strategic planning sessions, all data collection/organization, survey design, and consultation at a cost of \$26,000

Motion by _____, seconded by _____ Stanton Mahecha Kelly Erday Cho Cohn Justice

XV. PERSONNEL

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

- A. Approval of the following Changes of Assignment:
 - 1. Daniel Levitt, from Inclusion Aide, Brayton Elementary School, to Inclusion Aide, Jefferson Elementary School, effective August 28, 2024 for the 2024-2025 school year
 - 2. Patricia David, from Inclusion Aide, Jefferson Elementary School, to Inclusion Aide, Wilson Primary Center, effective September 30, 2024, (or sooner), for the 2024-2025 school year
 - 3. Davina Giordano, from Inclusion Aide, Jefferson Elementary School, to Inclusion Aide, Lincoln-Hubbard Elementary School, effective August 28, 2024, for the 2024-2025 school year
 - 4. Veronica Ramirez, from Inclusion Aide, Wilson Primary Center, to Inclusion Aide, Jefferson Elementary School, effective August 28, 2024, for the 2024-2025 school year
 - 5. Alexa Graham, from Substitute Teacher, District, to Long-Term Inclusion Aide Substitute, Lawton C. Johnson Summit Middle School, \$200/day, effective September 9, 2024, end date tbd
 - Carli Millen, from Part-Time Recess/Lunch Aide and Part-Time Office Coverage, Brayton Elementary School, to Recess/Lunch Aide, Brayton Elementary School, \$38/hour, paid via timesheet, effective September 3, 2024
 - Jennifer Nagar, from Inclusion Aide, Lawton C. Johnson Summit Middle School, to Long-Term Reading Strategies Teacher Substitute, Lawton C. Johnson Summit Middle School, \$265/day, effective August 28, 2024, end date tbd
 - 8. Dale Yelner, Inclusion Aide, Wilson Primary Center, to Inclusion Aide, Jefferson Elementary School, effective September 9, 2024, for the 2024-2025 school year
 - 9. Carolyn Kiley, from Resource Teacher, Jefferson Primary Center, to Resource Teacher, Jefferson Elementary School, effective August 28, 2024, for the 2024-2025 school year
- B. Approval to appoint the following support staff, pending criminal history review and background checks as required by law:

Name	<u>Position</u>	<u>School</u>	<u>Step</u>	<u>Salary</u>	Effective
Edward Mitchko	Security Officer	LCJSMS	n/a	\$50,000 (prorated)	September 30, 2024 (or sooner) for the 2024-2025 school year
Alycia Moses	Inclusion Aide	LCJSMS	Aide-Step-1	\$40,114 (prorated)	October 15, 2024 (or sooner) for the 2024-2025 school year
Manuel Garcia	Security Officer	SHS	n/a	\$48,000 (prorated)	September 30, 2024 (or sooner) for the 2024-2025 school year

Lesley Vega	Inclusion Aide	LCJSMS	Aide-Step-1	\$40,114 (prorated)	October 7, 2024 (or sooner) for the 2024-2025 school year
Camara Allen	Playground/ Cafeteria Aide	JES	n/a	\$38/hour	October 15, 2024 (or sooner)
Clera Rodwell	School Bus Driver	District	n/a	\$48,640 (prorated) \$32/hour	September 1, 2024, for the 2024-2025 school year
Arleny Cambranes	Part-Time Custodian	SHS	Custodian-1- Step-1	\$41,544 prorated to .625 = \$25,965	September 1, 2024, for the 2024-2025 school year

C. Approval to appoint the following support staff substitutes, pending criminal history review and background checks as required by law:

<u>Name</u>	Position	<u>School</u>	<u>Salary</u>	Effective
Zachary Wills	Custodian	WPC	\$17/hour	October 15, 2024, (or sooner)

- D. Approval of maternity leave/family leave for the following staff:
 - 1. Marissa Kaufman, Special Education Teacher, Jefferson Elementary School, paid leave effective, December 16, 2024 through January 30, 2025, unpaid leave effective January 31, 2025 through May 5, 2025
 - 2. Tina Lee, Physics/Chemistry Teacher, Summit High School, paid leave effective, January 29, 2024 through April 15, 2024, unpaid leave effective, April 16, 2024 through September 5, 2024 (revised from the November 16, 2023, March 21, 2024 and April 18, 2024 Agendas)
 - 3. Employee #9877, unpaid FMLA effective, September 5, 2024 through December 4, 2024 (or sooner)
 - 4. Justin Liss, Special Education Teacher, Lawton C. Johnson Summit Middle School, unpaid leave effective, May 15, 2025 through June 13, 2025
 - 5. Daniel DelPiano, Teacher, Wilson Primary Center, unpaid leave effective, March 13, 2025 through June 13, 2025
- E. Approval of Ronald Cooper to work at annual/special events, up to 100 overtime hours, to be paid time and one-half of his hourly rate of \$52.29/hour, for any time over 40 hours/week, for the 2024-2025 school year (paid via timesheet)
- F. Approval to appoint Shane Kress, Television Production/Studio Manager Teacher, Summit High School, as the videographer for Summit Board of Education meetings at the curriculum rate of \$50.00/hour, for the 2024-2025 school year

- G. Approval to appoint Stephanie Gallegos and Shannon Audet, as backup videographers for the Board of Education meetings, at the curriculum rate of \$50/hour, effective September 12, 2024, for the 2024-2025 school year (paid via timesheet)
- H. Approval of the following staff to cover the following classes, September 3, 4 & 5th, 2024 (*revised* from the August 2024 Agenda):
 - 1. Benjamin Fischer Physics \$63.91*3 = \$191.73
 - 2. Angela Wolkiser Physics \$60.46*3 = \$181.38
 - 3. Lauren Ponzio Chemistry \$74.50*3 = \$223.50
 - 4. Jodi Friedman Chemistry \$105.44*3 = \$316.32
- I. Approval to rescind the Robotics Co-Curricular stipend for Jeremy Morman, Summit High School for the 2024-2025 school year (*revised* from the August 22, 2024 Agenda)
- J. Approval to pay Colin Breivogel, Lawton C. Johnson Summit Middle School, Trip Coordinator for the 8th Grade Washington DC class trip, in the 2023-2024 school year, \$4,100
- K. Approval to pay Colin Breivogel, Lawton C. Johnson Summit Middle School, Trip Coordinator for the 8th Grade Washington DC class trip, in the 2024-2025 school year, \$4,100
- L. Approval to pay the following staff for ELA Curriculum Writing, 5 hours/each, at the curriculum rate of \$50/hour (paid via timesheet):
 - 1. Staci Kaplan
 - 2. Abigail Emerson
 - 3. Caitlin Crimmins
- M. Approval to pay Walter Vargas Salazar, Custodian, Wilson Primary Center, \$1,363.49 for 7 unused vacation days
- N. Approval to pay MaryBeth Driscoll, School Nurse, to work up to 27 hours, processing school physicals, at the hourly rate of \$56.68, paid via timesheet
- O. Approval to pay MaryBeth Driscoll, School Nurse, to work up to 60 minutes extra per day (30 minutes in the am and 30 minutes in the pm), to ride the bus with an out of district student as required in the student's IEP, at the hourly rate of \$56.68, for the 2024-2025 school year
- P. Recommendations from the Office of Student Personnel Services to staff the Bilingual Programs funded by Gottesman (list attached)
- Q. Approval to pay Buddy Teachers for the 2024-2025 school year, 6 hours/each, at the curriculum rate of \$50/hour, paid via timesheet (list attached)
- R. Approval to appoint the following I&RS Coordinators for the 2024-2025 school year:
 - 1. Danielle Greco BES Step-2B \$1,573
 - 2. Lea Audino FES Step-2A \$1,573
 - 3. Arthur Rodgers JES Step-2B \$1,573

- 4. LHES tbd
- 5. Jennifer Lowe WES Step-3 \$1,734
- 6. Carolyn Kiley JPC/WPC Step-3 1,734
- S. Approval to appoint all In-District Inclusion Aides to support special education student #275743, at Summit High School in after school activities, as needed, at the appropriate hourly rate for the 2024-2025 school year, paid via timesheet and to be invoiced to the sending District
- T. Approval of Stephanie Goncalves, Summit High School and Maria Duran Sierra, Lawton C. Johnson Summit Middle School, summer screeners for Multilingual Learners, up to 15 hours each, at the curriculum rate of \$50/hour, paid via timesheet
- U. Approval for Benjamin Fischer, Summit High School, Science Olympiad Advisor, 2 hours/week for 30 weeks, at the curriculum rate of \$50/hour, paid through SEF Grant #S24304
- V. Approval for Daniel Levitt, Jefferson Elementary School, to work the Morning Jefferson Intramural Program up to 1/hr per day at his per diem hourly rate of \$30.43 for the 2024-2025 school year.

Motion by _____, seconded by _____ Stanton Mahecha Kelly Erday Cho Cohn Justice

XVI. POLICIES & REGULATIONS

RESOLVED that the Summit Board of Education, upon the recommendation of the Superintendent:

Second Reading P 0164.6 - Remote Public Board Meetings During a Declared Emergency (M) Abolish P 2200 - Curriculum Content (M) Revised P & R 3160 - Physical Examination - Teaching Staff - (M) Revised P & R 4160 - Physical Examination - Support Staff - (M) Revised P & R 8467 - Firearms and Weapons (M) Revised P 9181 - Volunteer Athletic Coaches and Co-Curricular Activity Advisors/Assistants -Revised Motion by _ ____, seconded by __ Stanton Mahecha Kelly Erday Cho Cohn Justice XVII. ADJOURNMENT Motion by _____, seconded by _____, and carried to adjourn the meeting at PM. Stanton Mahecha Kelly Erday Cho Cohn Justice

	PROJECT
SET	
Summer Curriculum	
K-5 Litreacy	
	K-8 Math
K-5 Math	
	9-12 English PROJECT
English 2	
English 2 Honors	
English 3	
Transition English	
Summer AP	
	9-12 Math
	PROJECT
Advanced Robotics	
Geometry 3	
Honors Geometry	
Honors Algebra 2/Trig	
Algebra 2/Trig Foundations of Algebra Summer Advancement Geometry	

9-12 Social Studies
PROJECT
New Course- AP Human Geography
New Course -AP US Government and Politics
Summer AP
K-5 Science PROJECT
STEAM
9-12 Science PROJECT
Mod Physics 9
Physics 9
Environmental Ecosystem
Environmental Population Dynamics
Forensic Science
Honors Anatomy and Physiology
9-12 World Language
PROJECT
New Course- Classical Heroes
Conversational French 1
Conversational French 2
Spanish 3
Spanish 4

Heritage Spanish Literacy 2
9-12 Fine and Practical Arts
PROJECT
Unified Art Unified Materials & Processes
Digital Art 3/4
K-12 Health & Physical Education
PROJECT
Unified PE Grades 6-8
Unified PE Grades 9-12
C. O. Dunatial Education
6-8 Special Education
PROJECT
8th grade Resource Mathematics
0.42 Precial Education
9-12 Special Education PROJECT
New Curriculum- LLD Concepts of Algebra 1
New Curriculum- LLD Concepts of US History 2
New Curriculum- LLD Reading
New Curriculum- LLD Concepts of Physics
MERITS (18-21 year old program)
PORR Math for Personal Finance
Learning Workshop K-12 PROJECT
Summer Curriculum

	ESL - Bi-Lingual Pre-K - 12	
	PROJECT	
Conversational English HS		
Standard English for ELLs (HS	3)	
Standard English for ELLs (MS	S)	
Intro to ESL HS		
Intro to English Literacy HS	······	
	K-12 Counseling	
	PROJECT	
THRIVE elementary		
MS Advisory MS		
SEL Elementary		
HS Advisory		
	DEIB	
	PROJECT	
Development of three book st	udies	
	Library Media	
	PROJECT	

_

Summit Board of Education Approval of Travel and Related Expense Reimbursement Form

SUMMIT PUBLIC SCHOOLS

14 Beekman Terrace, Summit, NJ 07901

Board of Education Meeting Date:

NOTES:

1. All reimbursable expenses listed below are in compliance with NJOMB Circular letter 06-02 or OMB Circular A-87 unless noted otherwise.

12-Sep-24

2. Any "Other Expenses" listed under reimbursable Expenses below will be explained under "Explanation".

Types of Travel	Code 1
Staff Training & Seminar Conventions/Conference	2
Regular District Business	3
Retreat	4

							Reimbursable Expenses								
	Staff	Type of Travel	Location of Travel	Occurances	Grant Funded	Date(s) of Travel	Registration	Meals	Lodging Nights	Lodging Costs	Mileage	Tolls/ Parking	Air/ Rail	Taxis	Conference
D	Jess		Whippany, NJ	1		9/12/24	145.00								NJASBO OPRA, Negotiations, Arbitration, Fact Finding & Records Ret. Seminar
F	Torres		Whippany, NJ	1		9/12/24	145.00								NJASBO OPRA, Negotiations, Arbitration, Fact Finding & Records Ret. Seminar
<u>г</u> .	Fontes		Atlantic City, NJ	3		10/16/24 - 10/18/24	565.00	62.00	1	165.00	114.68	12.55			NJ Principals and Supervisors Association Fall Conference
1	Colineri		Atlantic City, NJ	2		10/17/24 - 10/18/24	380.00	102.00			113.74	40.35			NJ Principals and Supervisors Association Fall Conference
	Howarth	2	Atlantic City, NJ	2		10/17/24 - 10/18/24	410.00	102.00			116.56	40.35			NJ Principals and Supervisors Association Fall Conference
	Muller	2	Atlantic City, NJ	3		10/16/24 - 10/18/24	410.00	170.00	1	165.00	114.68	38.26			NJ Principals and Supervisors Association Fall Conference
Т.	Hill	2	Atlantic City, NJ	2		10/17/24 - 10/18/24	380.00	88.25			113.74	38.26			NJ Principals and Supervisors Association Fall Conference
S.	Hough	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30			NJ School Boards Association Workshop 2024
К.	Samo	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30			NJ School Boards Association Workshop 2024
D.	Jess	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30			NJ School Boards Association Workshop 2024
E.	Kelly	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30			NJ School Boards Association Workshop 2024
J.	Mahecha	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30			NJ School Boards Association Workshop 2024
K.	Stanton	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30		45.00	NJ School Boards Association Workshop 2024
W	Justice	2	Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30		45.00	NJ School Boards Association Workshop 2024
v.	Cho		Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30		45.00	NJ School Boards Association Workshop 2024
	Erday		Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117.50	36.30		45.00	NJ School Boards Association Workshop 2024
	Cohn		Atlantic City, NJ	4		10/21/24 - 10/24/24	210.00	238.00	3	495.00	117,50	36.30		45.00	NJ School Boards Association Workshop 2024
1VI.		2	Rochester, NY	3		11/3/24 - 11/5/24		172.50			344.98	53.36			Colleges of Rochester NY Tour
Δ.	Levy Zanelli	1	Somerset, NJ	1		10/16/24	225.00				27.00			1	American Academy of Pediatrics School Health Conference
<u>~.</u>	Lurrein	<u> </u>	001101001, 110	· · · · · · · · · · · · · · · · · · ·											
		1												1	

* Or as determined in accordance with board of education travel policy.

For the September 12, 2024 BOE Agenda

,

Recommendations from the Office of Student Personnel Services:

Approval for the following staff for the Bilingual Programs funded by Gottesman

Latino Literacy orogram (Fall 2024)				
Greta Texeira	Instructor	10 sessions	\$1,500.00	
Alexandra Falconi	Coordinator	10 sessions	\$500	}
Silvia Molina	Child care	10 sessions -2hrs	\$440	PEP parent/student combo-Needs fingerprinting
Sandra Giraldo	Child care	as needed \$22/hrs		Backup
Technology Workshops and help desks (FY)				
Bonnie Weinstein	IT consultants	10 sessions -total 27 hrs	\$2,000.00	
Trudy Cohen	IT consultants	10 sessions -total 27 hrs	\$2,000.00	
Silvia Molina	Coordinator	up to 6 hrs	\$300.00	PEP parent/student combo-Needs fingerprinting
Greta Texeira	Coordinator	as needed	999 (1999) - 1999 - 1990 - 1999 - 199	Back up
Bilingual College Preparedness Program (FY)				
EKO-Roadmap to	a de la companya de l	 And a first constraint of the Addition of Additions (see a distance and the Addition of Addit Addition of Addition of Additio	na na shekeri na shi ka na na shekari na shi ka shek	
College		5 sessions		
		2 College visits	\$3,750.00	
Stephanie Gonçalvez		Visits coordinator (2x)	\$500	

For the September 12, 2024 BOE Agenda

Recommendations from the Office of Student Personnel Services:

Approval for the following staff for the Bilingual Programs funded by Gottesman

Latino Literacy program (Fall 2024)				
Greta Texeira	Instructor	10 sessions	\$1,500.00	
Alexandra Falconi	Coordinator	10 sessions	\$500	
Silvia Molina	Child care	10 sessions -2hrs	\$440	PEP parent/student combo-Needs fingerprinting
Sandra Giraldo	Child care	as needed \$22/hrs	 To the state of th	Backup
Technology Workshops and help desks (FY)				
Bonnie Weinstein	IT consultants	10 sessions -total 27 hrs	\$2,000.00	
Trudy Cohen	IT consultants	10 sessions -total 27 hrs	\$2,000.00	
Silvia Molina	Coordinator	up to 6 hrs	\$300.00	PEP parent/student combo-Needs fingerprinting
Greta Texeira	Coordinator	as needed		Back up
Bilingual College Preparedness Program (FY)				
EKO-Roadmap to College		5 sessions	n a shararayan shirin a	
		2 College visits	\$3,750.00	
Stephanie Gonçalvez		Visits coordinator (2x)	\$500	

Approval of Stephanie Goncalves, Summit High School and Maria Duran Sierra, Lawton C. Johnson Summit Middle School, summer screeners for Multilingual Learners, up to 15 hours each, at the curriculum rate of \$50/hour, paid via timesheet

<u>School</u>	Buddy 2024-2025	<u>Hours</u>	<u>Rate</u>	Payment	
WPC/JPC	Kelly Klaif	6	\$50	\$300	
LCJSMS	Samantha White	6	\$50	\$300	
WES	Kylie Fine	6	\$50	\$300	
LCJSMS	Amelia Kropa	6	\$50	\$300	
LCJSMS	Lisa Guena	6	\$50	\$300	
BES	Naomi Tucker	6	\$50	\$300	
SHS	Frank Baragona	6	\$50	\$300	
SHS	Cheryl Adair	6	\$50	\$300	
SS	Daniela Szalanczi	6	\$50	\$300	
LCJSMS	Emmanuelle Loriot Apruzzese	6	\$50	\$300	
LCJSMS	Emily Hitchen	6	\$50	\$300	
LHES/JES/WES	Mike Gleason	6	\$50	\$300	100
SHS	Michele Mansfield	6	\$50	\$300	
LCJSMS	Dan Trench	6	\$50	\$300	
JES	Bianca Ratner	6	\$50	\$300	
LHES	Ashley Fuchs	6	\$50	\$300	
FES	Cathy Alberico	6	\$50	\$300	
LCJSMS/FES	Nevena Bojovic	6	\$50	\$300	
BES	Caitlin Dunn	6	\$50	\$300	
JES	Kristen Shuman	6	\$50	\$300	
LHES	Olivia Podsiebierski	6	\$50	\$300	
LCJSMS	Tonyamarie Ramsay	6	\$50	\$300	
LCJSMS	Ashley Raven	6	\$50	\$300	
SHS	Katherine Noble	6	\$50	\$300	
SHS	Ann Dooley	6	\$50	\$300	

,